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The figures in the margin indicate full marks
~ for the questions.

Q. No. 1 j 1 mark each 1x8 = 8

Q. No. 2 2 marks each A 2x5.= 10
Q. Nos. 3 - 7 . ' 3 marks each 3x5 = 15
Q. Nos. 8 - 14 5 marks each 5x7 = 35
Q. Nos. 15-18 . : 8 marks each 8x4 = 32

« Total =100
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1. Answer the following questions as directed : 1x8=8

O SETRR0IN N SR Tes A

{a) Is the set A={x|x(1, x)1} a null set?

A={x|x(1, x)1} % N=SH K& MRS =2

(b) Find the co-factor of -1 in the followihg determinant.

oy [Neffare —19 s=aif< (N a1

DU RLS
SISO
s ol

() What is the difference between simple interest and compound
interest ?

T I W% barqa god A1y e
(d) Write True or False :
O% (& s o7l ¢

‘Every null matrix is a square.matrix’

TN W7y (e <1 9 T

(e) Fill in the gap :
2T 3B ser <51 8

AM.xHM. =

RS Siey x z=pee N4 =
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(f)’  What is the arithmetic mean of first n natural numbers ?

YA Bl FOIRE YR AT Mg [ FAA 2

(g9 What is the minimum value that the probability of an event

can take ?

9ol AoAR AIOIF M Prow T =7 A2
(h) Fill in the gap :

AT J1R 27 I 8

Standard deviation is always

NS Roe g —— w7

2. Answer the following questions in brief: 2x5=10

B0 OO ARICTEDE Ted il 2

(@) What is the difference between ¢ and {¢} ?

¢ T {p} T AR A1y 52

S

X ; : 5
(b) For what value of x the matrix A =[ 4} will be singular

x 3 & == A A=[_2 ﬂ @51 2fen GleTs 242
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(c) What is perpetual annuity ?

Bz qRS [e
()it =30.hP4, find n.

I "P, =30.-"P, T (908 n I A 67 34|

(e) If y=a+bx, show that y=a+bx, a and b are constants.

AWM y=a+bx, (o8 Y8 @ Y =a+bx, a 9F b &5 |

3. Find the simple interest on Rs. 6000 from 4th March, 2017 to 28th
July, 2017 @ 5% p.a. . ~ 3

6000 5 4 G 2017 J ~<1 28 GENR 2017 GIFIH 5% T e 5 fefa
Sl :

4, If ”p4;”+1p4=5;9,ﬁnd n. 3

At np, ;P =5:9 & (90T n [
Or / 23

If "p =132 and "C, =66, find n and r. 3

T np ~132 % "C, =66 W (ST n A% r Ff7 =
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5. . Without expanding show that s
e F51its (el @

c b
—C 0O a|=0
a0

Or/W
{pocbE S
W

[3 5}[ OIS 1 O}
1A = o RO R
what is the value of x and y?

X 9% y 9 I e

6. Find the Mean Deviation from median from the gi‘{en marks of 7
students. ' 5

7 T 2Eg ol TE o9 NGNS SR oG [y e

13580 6r M liSE2OSIVERIZ 80 S

Tl Wrrite any two algebraic properties of Arithmetic Mean. 8

SNGR NE [l 7o) SeEiaer «f &4 |

Or / 231

Calculate the Harmonic Mean of 4, 8, and 12. 3

4, 8, IE 123 WS WK [efw 1 |
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The value of a machine at the end of a year becomes 90% of its

value at the beginning of that year. The machine was bought at Rs.
4800 and after using it for some years it was sold at Rs. 1800. How
many years was the machine in use ? S)

B ISR D TN (S SRS Pz I SRS JET 90% R |

GIfo=ICoT 4800 Tore 1 g 721 a2l Pz 1800 T1® [l i« el 2|
oACE! oI <= R B9 (fE

A committee of 6 is to be formed out of 7 gentlemen and 4 ladies.
In how many ways can the committee be formed, if at least 2 ladies
are to be included ? S

7 G SHET SE 4 915] AN A9 6 T TR0 G610 R wAieet | 7%
SRS TENe 2 90 W2l To9E R &iel, (S0% FNHU BN «=ee o/
SR A A2

Mr. Roy borrows Rs. 20,000 at 4% compound interest and agrees
to pay both principal and interest in 10 equal annual instalments
at the end of each year. Find the amount of each instalment.

Given (1-04)'°=0-6761 S

. 9@ TR 4% b 9T TI© 20,000 HH L FAE | (96 1051
I e T o Jo siRedii FaE [l | 3 cof #fem G
A (e, AR BE, (o Afset e Al [

fra =em (1-04)'° =0-6761

Show that there will be no term containing x° in the expansion 61’

1 )20 j
D )
( X / ©
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If the coefficients of x* and x® in the expansion of (3+kx)9 are

equal, find the value of k. S
W (3+kx)’ T REos x* Wi x° T 90 OF R (90, kI A [ 41
12. Prove by mathematical induction that the sum of first n odd
natural numbers is n?. S
SRS S weariAl e 91 @ 9249 n Bl ogey FeiRE FRU[ @ n?.

or / 33!

Using mathematical induction prove that : S

siififes S oe IR IR W [ @

nn+1)2n+1)
6

] 2
12t nia Rt Rl e, 21

for all. ne N

T FSIRS A nF AR |

13. Draw the graph of : (any one) 5
TR Sige] 41 ¢ (e 9@5t)
D = 2yi= 31 3% Ay 10 0 K> i) el

(@) 7 St dyi=20,8 o=, Ly>D
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14. Calculate the missing frequency, you are given that arithmetic

mean is 50-9. S
5% EIRSI! Fef =, SR (3 AN My 50-9.
Marks |
s : W = = - 80-100 |
e . 0-20 20-40 40-60 60-80
Frequency 5 8 o D 8
BISGISID)
Or / 724t
If f(x)=x>-5x+6, find f(A). 5
W flx)= x> -5x+6 T, (B f(A) W | ' |
DIREEO) i
AR O S
1 -1 0O
15. (@) Prove that . _ i
e = @ ’
nPr :n~113r +r. n—lljr—1
(b) Solve : 4
RRINISES S
ania %
S =10
b. xi\b
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If A={a, b}, B={2,3} and C={1,2}, show that 4
I A={a, b}, B={2,3} WF C={1,2} =, e @

Ax(BUC)=(AxB)U(AxC)

16. (a) Calculate Standard Deviation from the following data :

4
wow ma oAR A Koo e /11 8

%"g’[s . 10-19 20-29 30-39 40-49 50-59 60-69 70-79

Erequeneyiii S eME i ps a7 53 4

BIEKCIRIO) -

(b) Calculate coefficient of variation from the data given in

Question 16. (@) . 4

16. (@) 2@ O 71 Roael welic fefw 1

17. (a) Two dice are thrown simultaneously. Find the probability of

getting even number on both the dice. 4

w1 el awEel wEe 2 | Jent eebe I AR AN il
ISR ok:
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(b) A bag contains 4 fed, 3 blue and 3 white balls. 2 balls are
drawn at random from it. Find the probability of getting

(M2 rediand 1sblticiball

(i) 2 balls of the same colour. | ' 4
@Bl (NS 451 6], 351 = BN 35 90 6 Wiz | AYHRF S 251 74
Al %o, were [l #=edl <91 (oIS sl e |

() 20 6 iF 151 el

(i) P IO @ 200
Or / ¥z

Define and give one example of each : | 242=4
kel fordl o elf et «br Sriggel fri ¢
() Mutually exclusive events
AT ARYS WOl
(i) Positive correlation

IS[F ATHH

18. (a) Find out Karl Pearson’s coefficient of correlation. 6

I Pipas ST ediis [T =1 |

N A
o Ul
A On
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(b) Karl Pearson’s coefficient of correlation between two variables

- xand y is 0-28 and their covariance is 7-6. If the variance

of x is 9, find the standard deviation of Y. 2

It PICRTDT T Sel1<s W51 57 x S y < TS (o1t 357 0- 28 Sl
297 TRROEW 7.6 1 7 x 7 2pwal 9 =7, (orw yF T Koe 2
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